[}
~eolEA Was TEs BR s cdeisoma s K
Bz

&5 89/HMF ololx|

© HEINRICH KIPP WERK GmbH & Co. KG

ZL

HE ME:
QlEiA ERIx{E MO QIS & PIxI7 HEtsHs 2 YXIsty|
213 AL EILICH

olE S0f 71|, &l 7H7 U S+ A MEQ| Zolot £0| T EE

Iz H=Fel FYLct

Bix{ EEE £502 S0{obRt C}E B3 9IxI2 OIS Y £ laLich
FAIZhol B MEfot 32 ol ¥ AT YxIsHoF & B2 C Bt
& D Etelg At ok BhLICk

THE!:
AHIQIZIA AE A A2:
LIAF £212 LAY O &l 1.4305.

A2 = A3 2= 1.4034.
2 E E3XE|EX] &5 1.4305.
o= A2l 14310

LEAb 22|12, HAE OB A &3 E 1.4404.
orE AT 1.4401 EE 14571,

EM O
AHQIFA AR A A2:
LIAl &2|2 £ ZEd %{2|

L O
M= B g3t £e FstelX| fF, oot & 2 = ®El

AHIQIBA AE HH A4:
LIAF 22|12 B ZEd %2,

HAIA2]:
A 0|M & K0665.

gfe 2E2 28t 1E ME K2146.

www.kipp.com - info@kipp.com 1/3



°
- [ o=
AH|QI|A HAE 81T} A2 LET s AH|QIA IHA £
x|
=H
D2
* : SW1
19\
~J
5™
~l
Y ' .
' Vs
* D-U,UZ
-0,04
e < —
D1
Z= 29
FEHS E} EMAE AEHF HANEEIZ = E D D1 D2 L L1L2LBAEE3 SW1Fx30° AR  ERM
& S Ed  B=
F1 2 NF2 25 N
K0632.003903 C AEIQIHA AEl 1.4034 - PEE 3 M6x0,75 14315125 10 3,5 8 08 45 10
K0632.003004 C AHIQIHA AEl 1.4034 - FEEN 4 M8x1 1838515613 4 10 1 6 12
K0632.003105 C AHIQIE|A AR 1.4034 - A3t 5 M10x1 2143517715 5 13 1,3 5 12
K0632.003206 C AEIQIHIA AEl 1.4034 - st 6 M12x1,52551,7208 17 6 14 18 6 14
K0632.003308 C AHIQIBA AEl 14034 - PEEN 8 M16x1,5 33 68 261023 8 19 23 15 35
K0632.003410 C AHIQIBEA AE! 14034 - PEEN 10 M20x1,5 33 74 281225 10 22 28 15 34
K0632.003412 C AHIQIHA AEl 1.4034 - st 12 M20x1,5 33 78 281425 12 22 28 15 39
K0632.003516 C AEIQIEA AEl 14034 - FEEN 16 M24x2 40 96 321828 16 27 32 20 46
K0632.113903 C AH|QIE|A AR 14305 - EIPEE 3 M6x0,75 1431512510 3,5 8 08 45 10
K0632.113004 C AH|2lE|A AR 1.4305 - HIZE& 4 M8x1 1838515613 4 10 1 6 12
K0632.113105 C AHIQIHA AEl 1.4305 - HIZ3} 5 M10x1 2143517715 5 13 1,3 5 12
K0632.113206 C AHE|QIE|A AR 14305 - CIPEE 6 M12x1,52551,7208 17 6 14 18 6 14
K0632.113308 C AHEIQIHA AEl 1.4305 - HIZst 8 M16x1,5 33 68 261023 8 19 23 15 35
K0632.113410 C AHE|QIEA AEl 1.4305 - HIZAS 10 M20x1,5 33 74 281225 10 22 28 15 34
K0632.113412 C AH|IQIBA AEl 14305 - HIZAS 12 M20x1,5 33 78 281425 12 22 28 15 39
K0632.113516 C AEIQIEIA AEl 1.4305 - HIZE 16 M24x2 40 96 321828 16 27 32 20 46
K0632.063903 C AHEIQIEIA AEl 14404 X2iX 0lR 2| LZ ZH0/E 3 M6x0,751431,5125 10 3,5 8 08 3 6,5
K0632.063004 C AEIQIEIA AR 1.4404 RtedM OtF 2| LIZ Z20|E 4 M8x1 1838,5156 13 4 10 1 7 15,5
K0632.063105 C AHIQIEIA AR 14404 XiX OtFE| LA ZH0/E 5 M10x1 2143517715 5 13 1,3 4 12,5
K0632.063206 C AEIQIBIA AR 1.4404 XA OrFE| LIZ Z£20|E 6 M12x1,52551,7208 17 6 14 18 7 14,5
K0632.063308 C AHIQIEIA AR 14404 X1 0rRE| L2 Z20/E 8 M16x1,5 33 68 261023 8 19 23 15 35
K0632.063410 C AH|QIEIA AR 14404 X1 OfF 2| L|Z Z20/E 10 M20x1,5 33 74 281225 10 22 28 15 30
K0632.063412 C AH|QIEIA AR 14404 A9iA OrR 2| LA Z20|E 12 M20x1,5 33 78 281425 12 22 28 15 39
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



°
= —_ —

AH|QIHA HAIS T80 &S LET} U 2AHQIHIA QWA =
x|
Z5 29

FEHS E} X AME AT HAZY OE =2 E D D1 D2 L L1L2LBAEE3 SW1Fx30° A[E  ERM

2l S EE J=
F1 25 NF2 25 N

K0632.063516 C AHIQIEIA AEl 14404 XX OFR 2] LZ Z20[E 16 M24x2 40 96 321828 16 27 32 20 40
K0632.173903 C AE|QlEA AE! 14404 Atoi™ OrF 2| A+ed™M OrF 2] 3 M6x0,75 1431,5125 10 3,5 8 08 3 6,5
K0632.173004 C AHIQIEIA AR 14404 X1 OtF 2| AHedx 0tFEl 4 M8x1 18385156 13 4 10 1 7 15,5
K0632.173105 C AHIQIEIA AE! 14404 X}iX OlF 2| XA 0FFEl 5 M10x1 2143517715 5 13 1,3 4 12,5
K0632.173206 C AE|QlEA AE! 14404 Atoi™M OrF 2| At OtF 2l 6 M12x1,52551,7208 17 6 14 18 7 14,5
K0632.173308 C AEIQIEIA AR 1.4404 RHAM OtR 2| AH4X OFF 2] 8 M16x1,5 33 68 261023 8 19 23 15 35
K0632.173410 C AHIQIEIA AE! 1.4404 X}9iX OfF 2| XHedX OFF 2| 10 M20x1,5 33 74 281225 10 22 28 15 30
K0632.173412 C AEIRIEIA AR 1.4404 Rt OtR 2| A4X OFF 212 M20x1,5 33 78 281425 12 22 28 15 39
K0632.173516 C AHIQIEIA AR 14404 X1 OfF 2| XHed% OFFE| 16 M24x2 40 96 321828 16 27 32 20 40
K0632.0639031 C AH[QIFIA AEl 14404 EEIAER %{2| LIZ Z80|E 3 M6x0,75 1431,512510 3,5 8 08 3 6,5
K0632.0630041 C AH|QID|A AR 14404 S2tAR M2 LI Z80/E 4 M8x1 1838515613 4 10 1 7 15,5
K0632.0631051 C AH|CIEIA AE! 14404 EEIAR %{2| LIZ Z8(0|E 5 M10x1 2143517715 5 13 1,3 4 12,5
K0632.0632061 C AH[QIEA AR 14404 EBtAE” X2 LIZ Z20/E 6 M12x1,52551,7208 17 6 14 18 7 14,5
K0632.0633081 C AH|QIDA AR 14404 S2tAR M2 LIZ Z80/E 8 M16x1,5 33 68 261023 8 19 23 15 35
K0632.0634101 C AH|CIBIA AE! 14404 EEtAR *{2| LIZ Z8(0|E 10 M20x1,5 33 74 281225 10 22 28 15 30
K0632.0634121 C AH[QIEIA AEl 14404 E2IAER %{2| LIZ Z80|E 12 M20x1,5 33 78 281425 12 22 28 15 39
K0632.0635161 C AH|QIEA AR 14404 SEtAR M2 LIZ Z80/E 16 M24x2 40 96 321828 16 27 3,2 20 40
K0632.1739031 C AH[QIEA AR 14404 EEtAR X2 AHQIA OFR 2| 3 M6x0,75 1431,512510 3,5 8 08 3 6,5
K0632.1730041 C AHIQIEA AR 14404 EEtAE” X2 AHIX OF2l 4 M8x1 18385156 13 4 10 1 7 15,5
K0632.1731051 C AH|QITA AR 1.4404 SRtAR M| AHAX OHFE[ 5 M10x1 2143517715 5 13 13 4 12,5
K0632.1732061 C AH[CIHIA AE! 14404 EEIAR *2| X24% OtFEl 6 M12x1,52551,7208 17 6 14 1,8 7 14,5
K0632.1733081 C AH|QIEA AR 1.4404 EEtAR X2 AHoiX OtF 2l 8 M16x1,5 33 68 261023 8 19 23 15 35
K0632.1734101 C AH[QIEIA AE! 14404 EEtAR ®2| X94% OtF 2l 10 M20x1,5 33 74 281225 10 22 28 15 30
K0632.1734121 C AH[QIEIA AE! 14404 EEIAR *{2| X24% 0FF 2] 12 M20x1,5 33 78 281425 12 22 28 15 39
K0632.1735161 C AE|QIEIA AR 14404 E2IAE XM2| AI0IX OFF 216 M24x2 40 96 321828 16 27 3,2 20 40

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

3/3



